Solutions for Questions of Old Exams
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Section 5.5

.1

3 x-intercepts, 2 maximum values, 2 minimum values.

_2\/5

(a) amplitude = 3, Period = 37

(b) Maximum = 0, Minimum = —3.
(a)

(b) Period = %, Amplitude = %

(c) Range = [0, %]

(=2m, ) U (. 27)
b
(a) Amplitude = 2
(b) Phase Shift = 7 to the right
(c) f(x) = —2cos(2x — F)

s
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Amplitude = 4, Phase Shift = 7 to the left, Period = 47
d
Period = 7, Amplitude = %

(a) Period =7
(b) Phase shift = ¢ to the right
(c) Range = [-2,2]

Amplitude = %, Phase shift = 7 to the right, Period = 7.
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Amplitude = 6, Phase shift = 7 to the right, Period = 7.
a=-3,b=2.

Amplitude = 1, Phase shift = 7 to the right, Period = 7.
d
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Section 5.6
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to the left
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Period = 7”, x-intercepts: (?QT”,O) and (
=3 and z = 37 on [0, 37].

%,0) on [0,37], Asymptotes:

Period = %, Phase shift = 2?“ to the right, Vertical translation 4 units up.

(a) Period 7, Phase shift = § to the left.

(b) Three points: (0, %) , (%, 0), and (%,
-

Range = (—o0, 3] U [£,00), Period = 67.
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a=—7 and b = 2.

Range = ( %) —1] U [%700)7 Period = %"

2

Range = (—o0, —4] U [2, 00)

xr = (2n+ 1) T where n is an integer.

_%) , Asymptotes: x = _% and
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Period = 67, Range = (—00,0] U [2, c0)

Range = (—o0, —=3] U [1, 00)

™

R— {g + nmw where n is an integer }

.
A=3,B=4,and C =8.

.

Range = (o0, =11] U [}.00)
4

(3.0). (5.0). (5.0, (7.0)
b

x = gm — ¢ where n is an integer.

Section 5.7
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(0,0) and (3 + n,0)
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